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5,294 | KIFFH 3 2 S jimm; 2;;3 ;éi: iﬁ: )

5,295 |KIRVE 1 i jimm; 3,23411 i ?iﬁ: )

5,296 e

x HuSE

5,297 | KIRFTE 3 5 jimm; 2’2411(7) ;ﬁt i iﬁ: )

5,298 | KIFFFH 4 71 jimm; 422 ;éi: ;ﬁ: )

5,299 | KIRFPE 5 5 jimm; igi ;ﬁt 2 iﬁ: )

5,300 |KIR7VE 6 i jimm; 3,212 i 7 iﬁ: )
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5,301 | KIRFPE 7 5 jimm; 3;2 i ﬁz: )
5,302 |KIRVE 8 i jimm; :?2 i 1152 )
5,303 | KIRFPE 9 5t jimm; 1,3:; i 1$jﬁﬁ )
5,304 |KIFTE 1 0 5 jimm; 1,??(7) i 1 iﬁ: )
5,305 |KIRTE 1 1 5 jimm; 1:(1)22 i 4$zﬁﬁ )
5,306 |KIFTE 1 2 5 jimm; 1;22 i ?iﬁ: )
5,307 |KIFTE 1 3 5 jimm; 1:1322 i iﬁ: )
5,308 |KIFTE 1 4 5 jimm; 1:1322 i ?iﬁ: )
5,309 |KIFTE 1 5 5 jimm; 12228 i 1$jﬁﬁ )
5,310 |KIFTE 1 6 S jimm; tizi i liij: )
p 12 (B B
5,311 | KIFVE 1 7 5if jimm; 1:?2 EE 1$jﬁﬁ D
5,312 | KIRTE 1 8 5 jimm; 1:122 i 2 iﬁ: )
5,313 | KIFTE 1 9 5 jimm; 1122 i ﬁz: )
5,314 | KIFTE 2 0 5 jimm; 1:222 i 1 iﬁ: )
5,315 |KIFTE 2 1 5 jimm; :13::2411 i 1$jﬁﬁ )
5,316 |KIFTE 2 2 S jimm; 1:2;8 i 1$jﬁﬁ )
5,317 [HH 1 54 gg 13;2 ;éi: ;iﬂéz: )
‘ e ’ I
5,318 |Mit 2 B E;i 182411 i Lﬁ: )
5,319 |HiH: 3 54 ii 1::2 ;éi: ?iﬁ: )
5,320 |EH 4 54 ii 12:2 ;éi: iiﬂéz: )

_16_




L H—E (SF544 8 1 HER)

o B R % E P &
5,321 B 5 Sif ii 126132 EE éiﬁ:
5,322 | 6 B e e w
5,323 |BH 7 5 izﬁm :132:2 ;éi: 2 iﬁ:
5,324 |EiH 8 Fift ii 12(1): EE ?iﬁ:
5,325 |EHE 9 Fif ii 122 EE ?iﬁ:
5,326 |1 0 5 ii ig; ;éi: ;ﬁ:
5,327 Bt 1 1 5% ii 12;2 ;éi: liﬂéz:
5,328 B 1 2 5 ii 122; ;éi: liﬂéz:
5,329 |1 3 5 ii 1,82:1)) ;éi: iﬁ:
5,330 |Bif1 4 5% gg ?Z?g ;éi: ?iﬁ:
5,331 Bt 1 5 5% ii 1;;411 ;éi: iﬁ:
5,332 |1 6 S ii 12(2)411 ;éi: ?iﬁ:
5,333 B 1 7 5% ii 122; ;éi: iﬁ:
5,334 Bt 1 8 S ii 12;? ;éi: jéz:
5,335 |Bift1 9 S ii 1223 ;éi: iﬁ:
5,336 ;éi: iﬁ:
5,337 B2 1 5% ii 2(2)22 ;éi: 12 iﬁ:
5,338 B2 2 5 ii 122? ;éi: ;ﬂéz:
5,339 |EiH2 3 5 ii 12?? EE 2:13 iﬁ:
5,340 B2 4 5% ii 1;3;2 ;éi: ?iﬁ:
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{3 6-10-15 O~ 531 THE L B
5,344 [EEE 2 8 Fif jg%&m 3677 & 1M 6-10-10 et
[(E3E 588 % 9 Hbsk: K Zoof
E3 1|
5.345 |t o 9 B jtwiﬂﬁ 3,680 & 1 #iE| K IES
[53E:s 1,113 & 2 o
. [(ERE 1,157 & 1 #E| K
5,346 |HHE3 0 S : ’
[53E:s 608 & Hi1 e
. [(ERES 662 &K 1 #iE| K
5,347 |EHES 1 54 :
[53E:s 644 F 1 Hik
. [(ERES 712 F 1 #iE| K
5,348 |HHE3 2 S :
[53E:s 769 ¥ 1 M
. [(ERE 1,038 & 1 #El K
5,349 B 3 3 St : ’
KA LT 3,988 F 1 Hi:
. [(ERE 1,110 & il K
5,350 |HHE3 4 S : ’
[53E:s 1,034 & 1 H#k
5.351 |put 3 5 2@ Ei‘% 1,033 %/ 7| K W j
[EEpELs 775 F Hi1 e L BER (Bl BT
(ZE: B~ VB K 1 BE R
5.352 |G 3 & A HT 112 & 1 #ide| A Ra3l5 F%*%E%‘T’%Fﬁ
KRy 420 F& 9| B REKTFHIHERI0 TR
L ® 2,016 A
5,353 |72 9 B BT % s K
& LT 1,037 & A
i 3,00 A
5,354 | PRI 6 B A AT T & Lk K
FnHET 3,068 & 7 ke
i 3,06 A
5.355 | FRIm R 7 28 i HT 8 & 30 HiE| K
FnHET 3,068 & 24 Hik:
i 3,068 A
5,356 | FRIEHE 8 B AT % 23 k| K
FnHET 3,068 & 15 ik
. KA LT 3,625 & 2 #ie| K
5,357 |RMEHEKII I J% : ’
" AT 3.657 & 2 HisE
. [(ERE 415 %% il K
5,358 |H#HE 3 6 S :
[53E:s 612 F 1 #ik
L ® 2,279 A
5,359 |72 33 0 B BT & 2%l K
& LT 2,290 & A
L ® 2,331 H
5,360 |7@HI3 1 5% BT % s K
& LT 2,329 % o
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5,361 [RLH 3 2 S EQE 2221 ;éi: iﬁ: )
5,362 | R 4 6 zgg 2?? ;éi: iﬂéz: )
5,363 [fi23 FEFAHL 1 0 5% jzziig j::?i ;éi: iﬁ: )
5,364 |23 ERAHL 1 1 5% jzziig j::gi ;éi: iﬁ: )
5,365 |23 AL 1 2 5% jzziig j::;li ;éi: iﬁ: )
5,366 [f23 FERAHL 1 3 5% jzziig j::;i ;éi: iﬁ: )
5,367 | KIEHETFE 1 5 5% ﬁiig izgé EE iﬁ: )
5,368 [ KRAEHEHTE 1 6 ik ﬁiig ?:3;13 EE iﬁ: )
5,369 [RAEHEME 1 7 itk ﬁiig ?::i; EE iﬁ: )
5,370 | KR 2 0 B i}iiﬁ& ?2;2 ;ﬁt eﬁﬁaﬁ )
5,371 | LB # 2 2 B iig 23 EE 3; iﬁ: )
— 5y 13 1 it LL
5,372 |Fn M B EER E;:i 2.004 ;éi: ﬂ@z: L Fi e TR N O A
5,373 |'E & VEH M 1 B8R iig j:i;l; ;éi: 3;1 iﬁ: )
5,374 |'& %% V8 47 H 2 55 iig iﬂ ;éi: ?: iﬁ: '
5,375 |'& % Va7 H 3 5 iig iﬂ ;éi: i; iﬁ: )
5,376 |'& 4 VEHT i 4 B iig ijzz ;éi: 42 iﬁ: )
5,377 |'& & Va7 HH 1 5 5-# iig iﬂ ;éi: 22 iﬁ: )
5,378 |'& % P 1 H[H 1 6 5-#% iig jﬁi ;éi: 1;1 iﬁ: )
5,379 |& % Va7 H I 7 55 iig jﬁi ;éi: 2? iﬁ: )
5,380 EE iﬁ:
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5,381 |“Zfi% =4 [H i
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& 5T 1,146 & 1 #k:
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e 1T 4,412 %F 30 HlE
5,385 |E2MIHH 3 E T 1477 & 109 #E| K
=EA) 4,477 FF 121 Hidk
5,386 |2 M 4 E T 1477 & 134 05| K
=EA ) 4,477 /124 Hid
5,387 |E2MIHH 5 E T $477 & 131 5| K
& M1 4,412 &K 2 HE
5,388 | B4k HH 6 Bk iﬁ'iﬁm 4,477 % 63 M| K
e 1T 4,412 % 57 Wk
5,389 K& & #de| K
& Hi 2t
) PN 2,275 & 121 Hise| K
5,390 | &% P 1 25 ,
7 Ky 2,275 & 107 His%
~ PN 2,275 & 92 Hisk| K
5,391 | &% Y 2 5 ,
C Nl 2,275 % 21 #%E
~ PN 2,275 & 140 Hise| K
5,392 | &% P 3 i ,
7 Kl 2,275 & 9 HL
~ PN 2,275 & 31 Hi%| K
5,393 |8 %5 P 4 5 ,
C Nl 2,275 % 50 #i%C
~ PN 2,275 & 28 M| K
5,394 | &5 PG 5 5 ,
C Nl 2,275 & 12 #1%C
~ PN 2,275 & 143 Hise| K
5,395 |8 %5 LG 6 -5 ,
7 Kl 2,275 & 3 Mk
7 % & L mT 440 & 1 #E| K
5,396 & SLHTIH 5 5 s
7 & 5T 460 F 1 H:
5,397 | s AT 106 & M| LL
FnHET 3 K 4 HikE
5,398 |FEFN M H 1 25 A HHT 563 F 10 M| K
0 H 563 & 22 Huk
5,399 |7FEF0 M H 2 255 A HHT 563 #F 15 M| K
1 H 563 & 14 Huk
5,400 |PEF0 M H 3 255 A HHT 563 F 11 M| K
e 563 & 23 Huk
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5,401 |VGF0H [ H 4 B3 Eig 2;2 EE giﬁ: )

5,402 |PEF0H L 5 B Eig 222 EE ;lz iﬁ: )

5,403 |PEF0H [ H 6 B Eig 222 EE 22 iﬁ: )

5,404 |PEF0H L 7 B Eig 222 EE i? iﬁ: )

5,405 |PEF0H I HL 8 B Eig 2;2 EE :iﬁ: )

5,406 |RMEHH 1 3 5 igﬁgig Z; i 2? iﬁ: K

5,407 |FoH¥E T3 1 B8 Egg 1:232 ;éi: ?iﬁ:

5,408 |l T2 1 2 5 Eig 1?;? EE iﬁ: L2 i TR N oD 2
5,409 | FERSH 2 3 B iig :2 EE 12 iﬁ: )

5,412 [KJIZESE 2 Sk jﬁgﬁ 323(2) ;éi: iﬁ: ]

5,413 |hifE 1 541 iégﬁ 5:2; ;éi: ;iﬂéz: ]

5,414 |7 ZHBH 1 S EQE 2:8;12 EE ;l iﬁ: )

5,415 | LHBA 2 5 EQE 2:82: EE jé iﬁ: )

5,416 |E IR 8 Bif iig j:;lzlgz EE 12 iﬁ: )

5,417 &L HHIE 9 5 iig jfﬁi EE 2(7) iﬁ: )

5,418 |E#EHHIE 1 0 543 iﬁ; ;lf;lj EE 62 iﬁ: )

5,419 |EEHHE 1 1 543 iﬁg 22212 EE ;2 iﬁ: )

5,420 |E VG 7 B jiﬁ ;:238 EE ig iﬁ: )
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5,421 | KIEHH 1 6 5k igﬁgig ES i 111 iﬁ:
5,423 | KIEHH 1 8 5t igﬁgig 2; i ;2 iﬁ:
5,424 | RAEHETE 1 8 Witk ﬁiig 1;38 EE 1 iﬁ:
5,425 [ RAEHETE 1 9 Witk ﬁiig tjzz EE 1 iﬁ:
5,426 | RLH 3 3 S gg 2822 ;éi: :1 iﬁ:
- ) EZ4 BT 1,640 # 4 Hilk
5,427 |44 37 M rh i T 20 % He
5,428 [E4HTH 1 54 iﬁg 32;2 ;éi: 2 iﬁ:
5,429 |4 #TH 2 S iig 5:?; ;éi: 2 iﬁ:
5,430 |LFIHE 2 0 B Egg 28 i Ziﬁ:
5,431 [ RH 3 4 5} gg 2822 ;éi: 2: iﬁ:
5,432 |E{EMHIHIFE 8 i iig ;;2 i 13;1 iﬁ:
5,433 | KIFTE 2 3 5 jiﬁ ;232 i :13 iﬁ:
5,434 |®LH 3 5 5 zgg 2832 ;éi: 1E1S iﬁ:
5,435 | FERSH 2 4 B iig 22 EE :13(2) iﬁ:
5,436 | FERSH 2 5 B iig 22 EE ;21)) iﬁ:
5,437 | RLH 3 6 it gg 2822 ;éi: i? iﬁ:
5,438 | RH 3 7 i} EQE 2822 ;éi: i; iﬁ:
5,439 [ RLH 3 8 i} EQE 2822 ;éi: i; iﬁ:
5,440 [ RH 3 9 B} EQE 1321 ;éi: iiﬁ:
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5,441 IR 3 B ﬂiig 2322 EE 1 iﬁ:
5,442 | KIFTE 2 4 5 jiﬁ 1:813 i ?iﬁ:
5,443 IRy BRI jjiﬁ 2:128 EE : iﬁ: .
5,444 [ RH 4 0 5} EQE 282: ;éi: 22 iﬁ:
5,445 | FERSH 2 6 B ?ﬁ; 12 EE 23 iﬁ:
5,446 | KIEHETE 2 1 5% ﬂiig 222: EE iﬁ:
5,447 | L4 TE 1 8 B iig 2: i Siﬁ:
5,448 |BAH 4 1 5 zgg 282? ;éi: 2;1 iﬁ:
5,449 |KIETFE 2 5 5k jiﬁ i:; i 12 iﬁ:
5,450 | LEZ4H 1 3 56 Z’E igj: EE :iﬁ:
ol 3,400 & 210 Hik
5,451 |IAFHEEAHL 1 5% A 2,001 & 7 Hisk:
5,452 | LERSH 2 7 B iig 23 EE 2;1 iﬁ:
5,453 | LERSH 2 8 B iig ;2 EE 2:13 iﬁ:
5,454 |RALH 4 2 S EQE 2:8(7)51; ;éi: 1513 iﬁ:
5,455 | RLH 4 3 5 EQE 282: ;éi: i? iﬁ:
5,456 | FERSH 2 9 B iig 1 EE :8 iﬁ:
5,457 | FESH 3 0 B4 iig 1 EE :i iﬁ:
5,458 |IfFHEAHE 2 5% jiﬁ 2182 ;éi: giﬂéz:
5,459 |IfFHEEAH 3 5% jiﬁ 2121 ;éi: giﬂéz:
Kl 3421 & 7 G
5,460 |IfFHEEAHE 4 5% Sl 3,421 & 7 sk
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5,461 | FERSH 3 1 B4 ?ﬁ; 2 ;éi: 122 iﬁ:
5,462 | LEIH 3 2 B iﬁ; 3,062 i 122 iﬁ:
5,463 [RMEHTE 2 2 5 ﬁiig 1:;?: EE 2 iﬁ:
5,464 | LERH 3 3 B iig 22 EE 23 iﬁ:
ol 723 % 7 #hg| 4-14 BRIRCBRI12LL F:50cm

5,465 | KK 2 6 5k Sl 688 % 1 HlE
5,466 |KIFH 3 3 5 jiﬁ 12?)2 ;éi: 1 iﬁ:
5,467 |KIFH 3 4 5 jiﬁ ﬁ;i ;éi: 1 iﬁ:
5,468 | ALE4 zzg iﬁ)z: EE ; iﬁ: N
5,469 | FESH 3 4 B iig 22 EE ;i iﬁ:
5,470 | FESH 3 5 B iig 22 EE 22 iﬁ:
5,471 | FERSH 3 6 B4 iig gg EE IE1S iﬁ:
5,472 | LERSH 3 7 B iig 22 EE 22 iﬁ:
5,473 | LESH 3 8 B iig 2&19 EE 2?) iﬁ:
5,474 |KIEFTFE 2 7 5k jiﬁ 3:2 i 1 iﬁ:
5,475 | RH 4 4 5 EQE 28:2 ;éi: iz iﬁ:
5,476 | L4761 9 B iig il; i 2$§:
5,477 |E48HTH 5 S iig 2:2:2 EE 1 iﬁ:
5,478 | KK 2 8 Fk jiﬁ :ig i 1 iﬁ:
5,479 | FERSH 3 9 B iig Zg EE 22 iﬁ:
5,480 | FESH 4 0 B4 ?ﬁ; Zg EE 12 iﬁ:
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5,481 | LEs# 4 1 B ?ﬁ; Zi EE ?z iﬁ:
5,482 | LEH 4 2 B ?ﬁ; 22 EE 22 iﬁ:
o 1,612 & 6 Hilk
5,483 | KJIZEF 3 5k AT 3,624 & Mk
5,484 | RMEHETE 2 3 Witk ﬂiig iigzj EE j iﬁ:
5,485 [RAEHEME 2 4 75tk ﬂiig ;a;g(z) EE iﬁ
5,486 | LEH 4 3 B iig jj EE 6? iﬁ:
5,487 |1 ST 6 zgg i?i ;éi: iﬁ:
o 1,828 & 3 Hilk
5,488 |Bift3 7 S A 32 &K 1 HiZk
5,489 |Eift3 8 S gg 1’5613(7) ;éi: 1 iﬁ:
5,490 [RMEHE 1 9 S igﬁgig Zj; i ;iﬁ:
5,491 |LFIHE 2 1 B4 Eig 21; i 2; iﬁ:
5,492 | LFIHE 2 2 B Egg 3,252 i ;iﬁ: e
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5,494 | LE4H 1 4 B4 ZIE ﬁ;g EE 12 iﬁ:
5,495 | &LV 5 Sk EQE 1:22 EE Ziﬁ:
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5,497 | RH 4 6 i} gg 2822 ;éi: i? iﬁ:
5,498 |RALH 4 7 5 zgg 282: ;éi: 42 iﬁ:
5,499 | FEIH 2 4 B iig EZ EE iﬁ:
5,500 | FERH 4 4 B4 ?ﬁ; 2 EE ig iﬁ:
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5,508 [WR A4 9 B zgg 2822 ;éi: ?(7) iﬁi )
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